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At = AfE1I T
% % % % % %
A (1040) (1040) 43.1 37.6 2.2 2.8 12.6 1.7
18A| 0] 20CH 155 171 39.5 33.2 2.4 3.4 18.3 3.2
30CH 168 157 44.2 29.1 4.9 3.0 17.4 1.3
il 40CH 191 188 55.1 29.8 1.0 2.0 11.0 1.0
50CH 202 201 46.5 36.3 2.5 3.4 10.9 0.5
60| o] & 324 323 35.4 49.5 1.3 2.4 9.2 2.2
" =2 544 515 43.2 36.1 2.7 2.6 14.2 1.2
d
ofd 496 525 43.1 39.1 1.7 2.9 11.0 2.2
ME 217 196 41.6 35.1 4.0 3.9 14.8 0.7
d71/eH 332 332 44.1 38.2 2.0 2.7 11.5 1.6
/5 8/MB 106 112 46.7 28.2 2.9 6.0 13.1 3.0
X ZE/HF 44 43 42.8 35.8 - 2.1 14.2 5.1
Fiygihdd 152 156 423 42.9 0.7 0.5 12.4 1.3
/4= 93 101 24.3 56.2 1.0 3.1 14.4 1.0
HE/EF/HR 96 100 59.4 25.1 3.0 0.9 8.9 2.6
B 261 256 19.8 67.9 1.9 1.9 8.1 0.4
T sc 420 413 41.2 39.0 1.5 2.4 15.5 0.3
eS| 246 250 76.1 9.6 3.0 3.7 6.8 0.8
® e 113 121 30.9 26.9 3.4 4.1 23.9 10.9
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A (1040) (1040) 46.9 10.5 17.3 23.0 2.3

18M|0] & 20CH 155 171 50.0 16.0 13.4 17.2 3.4

30cH 168 157 55.3 8.8 13.9 19.6 2.4

ik 4ot 191 188 61.7 5.3 13.4 19.0 0.5
50CH 202 201 49.4 9.3 15.8 23.0 2.5

60| 0] &4 324 323 30.9 12.3 24.2 30.2 2.5

M =Hd 544 515 47.8 10.2 16.9 23.0 2.0

© g 496 525 46.0 10.9 17.6 23.0 2.5
ME 217 196 49.1 10.5 16.7 22.6 1.1

a7|/24d 332 332 47.0 8.8 17.5 24.7 1.9

/S ™H/ME 106 112 50.3 1.4 13.3 23.5 1.4

Xq | ZH/MAF 44 43 46.1 8.9 15.8 20.3 8.9

| BiygidE 152 156 44.6 10.9 15.6 25.9 3.0

/4= 93 101 39.3 7.1 30.4 21.2 2.0

He/g3x/d5 96 100 49.7 18.9 12.2 16.4 2.8

HEoxg 455 449 80.6 13.6 2.5 2.4 0.8

=2lo| & 388 391 5.2 4.3 34.7 54.2 15

X|X|8he Fck Mojgt 24 23 48.0 9.3 19.9 18.3 4.5

7|EPd S 27 29 67.0 6.7 16.9 9.5 -

XX8E els 130 131 52.3 18.3 16.2 6.0 7.2
e 16 18 37.7 20.7 11.7 11.1 18.9

B 261 256 22.1 7.5 29.5 39.8 1.0

K|St 55 420 413 47.4 9.8 17.1 24.3 1.4
e 246 250 73.8 11.0 5.5 8.5 1.2

HRE 113 121 42.0 18.4 16.4 13.1 10.0
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% % % % %
HH| (1040) (1040) 26.8 16.5 17.2 27.8 1.7
18M|0] & 20CH 155 171 24.8 13.0 18.8 34.0 9.4
30cH 168 157 23.7 9.7 17.0 40.3 9.3
i k=] 40CH 191 188 20.2 13.2 17.3 35.9 13.4
50CH 202 201 26.9 16.6 13.8 32.8 9.8
60A| o] &t 324 323 33.1 23.4 18.5 10.8 14.3
. =23 544 515 27.2 16.8 18.0 28.9 9.1
< of’g 496 525 26.4 16.2 16.4 26.8 14.3
Mg 217 196 25.7 15.3 18.2 27.5 13.3
47|94 332 332 24.9 18.4 14.2 29.7 12.8
/S ™H/ME 106 112 27.8 15.4 17.8 31.8 7.3
PN ZH/AF 44 43 22.9 23.5 18.7 26.5 8.4
24248 152 156 35.1 10.4 18.6 25.4 10.5
/385 93 101 33.0 19.1 19.7 18.5 9.8
He/E8xF/d5 96 100 16.5 17.2 19.2 31.8 15.3
HEoRxg 455 449 5.3 7.9 23.6 48.3 14.9
=29 388 391 59.0 25.2 6.0 3.0 6.7
de|g 24 23 9.5 13.1 26.1 38.2 13.0
X|X|5t= ™S
7|epde 27 29 16.2 16.1 22.9 41.4 3.5
XxE8e gls 130 131 12.9 20.3 24.0 28.4 14.4
ZoE 16 18 - 15.4 31.6 18.3 34.8
724 591 597 4.8 9.3 24 .4 46.9 14.6
T™82Y =4 424 419 58.6 26.5 6.7 1.9 6.4
2EE 25 24 17.3 20.0 22.2 7.0 33.5
Ha 261 256 42.8 22.7 9.6 17.5 7.4
x| A5 e 420 413 26.9 15.7 17.0 29.4 11.0
g 246 250 14.6 9.3 22.5 41.9 1.7

2EE 113 121 17.8 20.6 23.0 15.3 23.4
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HH| (1040) (1040) 28.0 14.2 18.7 30.9 8.2
18M|0] & 20CH 155 171 27.8 16.6 12.5 31.9 11.2
30cH 168 157 28.4 14.2 19.5 25.8 12.0
i k=] 40CH 191 188 32.7 14.0 15.9 30.1 7.3
50CH 202 201 37.6 10.3 14.9 31.8 5.4
60A| O] & 324 323 19.2 15.5 25.5 32.6 7.1
x =23 544 515 29.7 11.8 18.5 32.6 7.4
< of’g 496 525 26.4 16.6 18.9 29.2 9.0
M3 217 196 28.3 10.5 17.7 35.3 8.3
371/4H 332 332 30.7 15.5 16.5 28.2 9.1
X/ E5H/HE 106 112 33.4 11.2 18.7 30.1 6.5
PN ZH/AF 44 43 18.0 21.0 16.0 40.6 4.5
24248 152 156 21.1 16.1 18.1 35.4 9.4
/385 93 101 22.0 10.1 31.5 28.1 8.4
He/E8xF/d5 96 100 34.3 18.6 17.0 23.6 6.5
HEoRxg 455 449 50.4 19.5 13.5 10.3 6.3
=019] 3l 388 391 9.2 7.8 24.5 54.8 3.6
X|X|3he Rt ™o|gt 24 23 26.6 13.1 14.7 37.4 8.1
7|Epd S 27 29 25.6 14.6 7.1 31.6 21.1
XxE8e gls 130 131 10.6 14.7 22.1 31.6 21.0
X nE 16 18 12.1 18.0 18.2 10.3 41.4
724 591 597 42.3 18.8 14.6 14.4 10.0
T™82Y =3 424 419 9.1 6.9 24.5 55.6 4.0
2EE 25 24 4.8 27.0 19.2 10.2 38.8
B 261 256 21.0 11.2 19.5 44.0 4.3
%] A8 =c 420 413 25.4 14.3 18.6 33.6 8.0
g 246 250 44.7 19.4 13.4 15.8 6.7

HEE 113 121 17.2 9.6 28.2 24.9 20.2
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